Directions (1-9) i cach of the| 11, (2) Rivulot (b} Stream | 22,
Sfollowing questions; select n‘re| {e] River (d) Pond
reluted lerteriwordhumber. from | 12, (1) Konark () Madurai
the glven alternatives = {e) Dilwara (d) Ellora
L 8:9:56: 7 | 13- @RTW {b) QOM |
{2} 90 (b) 73 (e} IKG () IKM |
-2-(0(133?; A (d}SiH . Jl 14. (a) EFH ;  (®)org
. A BE o .
@) YVSP (b ihude. 2L .l;:g;g;}rf oosPryeT.Coim !
© YUQM @ ywus [ BIEE ( s il
3. BCFGHILM ; NORQ: 7 | 16, (3)24 (6 49 .23,
(8} TXUW  (b) TUXW ek i i
{©) TVWX () TXWU ()8 e
4. Affluent : Opulent = Flourish: % | Directions (17-21) : In each 0f|
(a) Prosper ' (b) Flatier . the foliowing questions, find the
(¢] Comprise ' (d) Outtlow | odd fettersiword patr from  the
5.025:37:497 'y giveralternatives, |
@ss ()60 | 17. () Confiuence o
(c) 63 il (b} Concourse
6. ABCD: ZYXW - TFGH : 7 () Radiation
{a) VUTS . (b) EUTS . {d) Concentration
(c) POTS (d) UOTS, 18. (n) coogppkkk
T3 Ry ¥
(a) 128 (b} 126 L&) ifenosss
(©) 136 (d) 116 E;g i i
8. Gulp: Drink 2 Rysh 1 7 | . (a) Fm::):l R L 25
(&} Jumy b Hi g e A
© Ga P }d} R:ﬁ Jawahar Lal Nehru
9, Jay : Delight : Gloomy: | 7 LS gem"-lal“‘“dm‘”“mmh- !
1) Silent b) Dull : Lo
8 e E d{ B R S e il
Dircctions (10-16) :mme-pdd| (d) Bhagwat Gita and Ved Vyas
numberdetiers! number pair from |, 20, (a) Dog {b) Cow . 26.
. the given alternatives, KL (¢} Horge (d) Ox
10, {a) Pathology (b} Geology | 21. (a) 532 by761 :
(¢} Cardiology | '(d) Radiology " | (¢} 572 dvey |

: GENERAL INTELLIGENCE

Mrs.  Susheela  celcbrated  her
‘wedding anniversary on Tuesday,
30th September 1997, When wilt
she. celebrate her nexl wedding
antiiversary on the same day ?
(&) A0 September 2003
(ir) 30 September 2004

LA L khber 2002

d) 30 Oetober 2003
A clock gains five minotes every

. hour. What will be the angle

" {a) 3607
- (o) 3900

< () West

fraversed by the sceond hand i in
one minute 7

(b 360.5°

(d) 380°

Sudha travels & kin to the South,
Then she tums to the right and
walks 4 km, Then again she turns
to her right and moves 8 km
forward. How many kin away is
shie from the starting point 7

{a) 7 (b) 6

(c) 4 (d) &

A than started walking West He
turned right, then right again and
finally turned left. Tawards which
direction was he walking now 7
(d) North (b} South

(d) East

Some equations are solved an the
basis of ¢ cortain syster. Find the.
correct answer for the unsolved
equation on that basis, - - g




7.

28,

3L

.

1324 « 789 =35, 441 = 484 =43, 625 x 400 — 45,
find the value of 256 » 723,

(u) 33 (b) 35
(c) 43 (d) a4
If MEKLF is coded as 91782 and LLL.TK. as HEEAT,
then how ean IGHED be coded ? ;
' (a) 97854 (b} 64521
(c) 53410 (d) 75632

Two stalements are given below followed by four

alternative inferences, Select the one Which is most
appropriate, | Yy
Stements;. WWW.educationo
(i) All radios sold in that shopr are of high standard.
(1i) Bome of Murphy radios are sold in that shop.
Inferences :

1. All radios of high standard are manufactured by |

Mutphy company,

2. Some of'the Murphy radios are of high standard.

3. Mone of the Murpliy radios is of high standard,

4. Some of the Murphy radios of high standard are sold
in that shop.

(2) 1 and 2 inferences only

(h) 2 and 4 inferences vnly

(e} 1 and 3 inferences only

(d) 1 and'4 inferences only

Dircetions (29-30) ;: Select the missing number from

the given responses ©

2
=
5
?
(h) 51
(d) 64
(a) 343 (b) 512
(e} 729 () 1000

The population of tats is incredsing year afler yearina |
village, Find out the missing pnpulauon from  the |~

following information :

Years 1| 19901991 | 1992 1993|1994 1995
Populations| 4 | 8 | 16 | 7 |24 | 6s
(2) 22 (by32
(o) 28 () 34

:‘.;

36,

37

38.

390

If*~" stands for division, ‘=" for multiplication, '+ for |

subtragtion and ‘' for addition, then which one of the
following equations is comect ?

) 13 years

(@) 1945 dmdrd=11

(B) 19%5—4 =244 16

(c) 194544 2ud=]3 °

(d) 19+ 5+442=4-20

Which one of <the given responses would be a
meaningful order of the following 2

1. 8entence 2. Word

3. Chapter 4. Phrase
5..Paragraph

(a) 4,3,1,2,5 ~ {b2354]
ffeatin } “y 4.5
;gmnrs g’ﬁ-‘f&mg W{!r as per order in the
dietionary :

1. Inhabit 2, Tngenious.
3, Inherit 4. Influence
5. Infatuation £k

() 1,23, 4,5 (b)5,4:1,2,3
(c)4,5.2,1.3 @ys. 4.2, 1.3

. Which one set of letters when sequentially places at the

gaps in the given letter series shall-complete it?

ciab b aba . abab
{2) abbaa (b} bbagh
(i) abaab {dl) naaba

Tn a row of trees, atree is 7™ from left end and 14"' from
the right end. How many troes arc tliere in therow
() 1% () 19
() 20 {dy2l
Shan'is 35 years old, Sathian is 5 yoars junior to Shan
and b years senior to Balan. The youngest brother of
Balan is Devan and heis 7 years junior to him. Sa what
isthe age difference between Devan and Shan
(@) 18 years (b} 15 years

(d) T years .
Twa statements are given followed by four inferences.
Select the alternative which is mostappropriste. -
Statements :
L India is becoming industialiscd.
II. Follutien s &  problem

industrialisation.
Inforences: . |
T All industrial centres arc polluted.

11, India is pollured.
11, Polluted riations are industrialised.
1V, India mav become polluted.
() All are appropriate :
(b} None is appropriate
(c) Only IV is appropriate
{dy Only IT is appmprﬂm
From the given alternative words, select the word
which can be formed wsing the letters of the given
word ;- \
T]ETF,R,\'TTNATION
(a) DECLARATION:
{c) TERMINATED!

associaled  with

' (b) NATIONAL
(d) DEVIATION




40

41.

42,

4

i

46,

47,

. Some equations have been salyed on the basis of a

If in's cerlain code HYDROGEM is written ag | 48. Tf & mirror is placed on the ling: MM, then which of the

JCIZYSSD, then how can ANTIMONY be “nncn in| '

that code ?
(a) CEVEOQPA () CREQWABO
{c) ERXMOSRC {d) GTZOSUTE

If DELHI is coded as 73541 and CALCUTTA as
82589662, ther haw can CALICUT be coded 7
(a) 5279431 (b} 5978013

answer figures is the ‘correct, image uf_tht.. Fiven
questions figure 7
Question Figure :

N
=i
b1

() 8251896 () £543601 ¢ :
How many rectangles are thers in the S]VEn diagram 7 l.Answer Fl‘lglures A
Pvbleducation JJJ:T‘@E,J.W%V@;,
4 B)7 ) @ di 18 . ;
e . [ W m @

Which of the following diagrams represents the

relationship among Sun, Moon and Star ?
fe)
@ C o)l
9- o @) )
{a) h  (© ()

cerfain system, Find: the correct answer for the
unsplved equation on that basis.

TEOXT=32; 13 %75 120,17 %9 =208 then 19* 11 =7
(a)} 150 (I} 150 ;

ey 210 (d) 240

Forecast the Growth Rate mr the year 1995 from the

following data :
1992| 1993 ]994'} 495

| Yeur iovoioot

_| Growth Rate —>-| 3537 |4 lag]es] » |
{a)] 7.8 {bJ H.6

(o) 9.7 @s9

If5=" stands for '+, “+7/stands for ! for =t and

for =", which one af the following equations is ¢orect?
(@) 30 -6 +5x 425237 {

(B A0+ 6-5+4x2=30

(3065 5—d+2=33

fd) 302 x5+ 4= 2=40

From the given answer figures, select the one in which
the questions figure is hidden’ embedded.

b AETE

Question Figure :

Y

Answer Figures

by,

A piece of paper i3 folded and cut as shown beluw in
the questions figures, From the-given answer figures,
indicate how-il will appear wheg opened

Question Figures :

]

N

2 ¥
: . e ||| i
@ & @

« Direction : A word is represented by anby one set of
numbers as given i any one of the alternutives. The
sels of numbers given in the  altertiatives are
represented by two elasses of afphabers as in the two
matriges given below, The colwnns and rows of Matrix
1 ate numbered from 0 to 4 and that of Matriz 11 are
numbered fron 3 w9 A letter from these matrices can
he represented first by its row and tiext By its column,
c.g, T can be represented by 31, 76, etc. and 'S7 can

-be represented by 14, 99, ete. Similarly, you have to
identify the ser for the word GOVERN.

50, MATRIX T MATRIX I
0|12 |3]4 siel7 |89
glalv|elale| |s|glelolx|g]
RO N G s §[N|PIVIE]S
2IM|N TS |1 T M I|O|N

3,_OT]_TA BlE A1 {C|O].
4 N|s|IN|E|P g|IN|T[A[R]|S

(] 59,11, 56,22, 44, 65

(b) 00, 11,56, 02, 10, 5§

(2359, 89, 67,22, 98,21
| ()13, 78, 01, 67, 55,79




51.

Directions (S1-37) 1 4 part of the|

sentence v Bold, Below arg ghen
alternatives fo Bold part n, b oand |

{d) No improvement
‘The  authoritiss 1cques.r.ed. the
spectators to keep with the track.

¢ {m) To keep on

53

5

e

=87

. The Commissions are set up 10

{b) To keep away

(¢) To keep outof -

(¢} Mo improvement ‘
Hearing deformity is one af the
must common  birth defects in
India.

{a) Improvement

{b) Datection

(¢} bmpairment

()} No impravement

He'is having many fncnda hera:
{a) Have

(b) Has

{c) Will have
{d) Mo improvement

ask into the incidents.
(a) Tnguire .

(b demand

() Took

{d) No improvement
Lum angry upon you.
(a) Against :
(h) With

{c) On

{d) Ko improvement

Do nat stay out late. Dome home

soon.

(&) Cuickly

(b} Fast

{¢) Early (d)y No
improvement

Directions (58-63) : Some of the
sentences have crrovs and somc
are convect, Find out which part of
a Remtence has ap evvor and mork

the appropriate letter (a8, o). Ifa

¢ which may improve  the
sentence. Choose . the correct| 58
aligrpative,  In case o
a'mprovqmﬂrr i rm-ed_ed, your|
answerds d' | 59,
Prasad bowls ﬁmev than Sripad

fanot it 7 j‘ e I‘”"a.i
{a) is not Prasad : 60.
{{b) Does he |

(e) Dogs nothe I 61,

62,

63,

65.

o

66,

AT,

{Our

. Ramu ig in the habit of rovising

sentence fx | fRee fiem o erons,
Blacken the. " repiangle
corresponding o (i)
the dnswer Sheet, : |
Drinking and drivingi(z) acei(h) a
major eause of aceidents. (¢} No |
errot (d) ; |
They are standina/(u) at the gate

the a‘l‘ldlll‘h'l'lll’ll’{b) asthereis no | 0

/J“c%

S RICO I
HL isf (J) ha\.’[ng many/(b] friends
here.f{o) No error (d)
Looking fon\ardf{a] to meeting
yowih) in person, (e} No error ()
Galilen proved thati(a) the carL!\|
revolvesib) around the Sun(c)
No errot (d)
1 wanti(a) they you shuuld.(h)|
perform well/(c} No error d)
Directions (64-68) ; Senfe Heey |
are given with Hezn?rv tor he fillod
in with an appropriate. words(s),
Four alternatives are suggesied
Jor each question, Choose ihe
dorrect aiternative out of the four
and indicate it in the Anywer
Sheet.

. The department head insisted that |
absefute -authorily to

he
regulate office work.
(a) gives

(b} is given

il

(&) wonld give

{d) wounld be given
Vinod, two . ef ...
altend primary sehopl, wishes to |
be a school teacher alter his
graduation from the University,

(z1) whom (b them

{c) whose - (djwhich

The deadling wis nearby, so Mrs,
Sweth had her stadents
cssave,

{a) complete (b} to complete
{t) completing (d) completed
new  digital  photo-print |
maching, the manual ... is-lost
awaits to be sel up properly.

(a) of what + (h) where

Ae) by whom  (d)of which |

just once, but Suresh I

undersands w subject
revised it for atleast thivee times.

never

brothers

their
\

he

69

{a) 10 case (B thus

(¢} although  fd) unless
Directions  (§9-71) : Choose the
vt oppesite in meahing & the given
el and et in the drswer Sheet
ABANDON
() Regain

" (¢) Remain
M!iLE

iy
fehl

¢ EXEMPTIONS
'f.J) Genernlisation

by Liberalisation

{c) Bxclusions

(d} Inclusions:

Directions (T2-74) : Out of the
Tt alternatives, chppse the one
wilick buse expresses the meaning
of phe given nonfﬂ and mark it in
she Answer .S‘!mea

{l} Retain
(d) Revive

by Pawerful
(d} Strong

72, CONCEALED

'(a) Covered (b} Clased
{£) Sealed (e} Hidden
. RELISH

(z) Realise (ly) Tasté

‘e) Enjoy () Reveal
. ACUTE i
{a) Tl (b} Drovsy

{&) Unpleasant {d) Sharp
Directions {?H—Tﬁj Group of

Jonr words ore given. fnoeach

o one weed ix eoriectly spell
Einel the eorvectly spell word and

Smark it i the Answer Sheet.

75, () aknoledpe
by ackrvwledge
(cyacknoledge
(dy acknolege

Th.. (4] poscss {b) possess
() posses - (d) possus
Directions  (77-81) Fetir
alterdatives are given for the,
idiniphenye Bold o fthe

. She was on the

sent@ice,: Choase the alternative
whicht hext expresses the meaning
af the idiomiphrase and mark it n
the Answer Sheet.

horns of a
dilemuma as che had either to leve
hér Jub or divorce her husband.
Aal in nervous condition

(). in terrible mood

(e} in difTicult situation

(d) in suspense




8. A5,

He died in harness.

_{a) ceased to live |
(b} died of a disease ‘
(c} died for his connfry
(d) died while worlcing

79, All bis schemes ended in smoke.

(a) came to-nothing

(b)) got on fire

(c} burnt up
() atracted Lvuyhud)
#0. The voung boy Lk, r_.}f

heels inspite of his h{nther S tRIT |
WAMITZS.

(a) playing happily

(b} kicking somgong

() wasling lims

() passing a gosturs of disrespect
Fathima [ol thar she had beien
made o seapegoat for her son's |
incompetence.
{a) fool

(b witness
) Fall guy (d} proxy
Directivns (82-85) : Ot of the
Sour altermatives choosé the ope|
which can be substiuted for the
Bivan worlyd sentence,

82, A small room ina big house.
hotel,  ahip ete, where glasses,
dishes, spodns, Lowd ete, are kept ©

mulion years.

(&} Portico {b) Panry 86. (a) rocl{‘. () histatye

() Mezzanine (d) Kitchen (i) past (d] future .
83, A forcigner who  settles in a| 87, (a) witness (b} evidence |

countey. (e} knewvledge  (d) matiers

18) homigrant (b} L'ml.ﬁf‘ﬂ"l 88, (a) croate (b} build-up

{c) Alien (d) Visitor (&) rebuild (i} reconstruet
B4, Doing something according tD B9, (4) scientific (b histaric

ones own free will - (¢} realistic (d research

(a) Willully (b} Obligingly . (a)with (b behind

ey Moluntarily (d)} Compulsarily | () wner {d) below

wir points ohs
fivm the top of a building 143 m
high, IT the angles of deprossion
of the poinls are complementary
and PCF = 20 m, then the distance

of P from the building is ;
{a) 25m Ty 4sm
() 30 m (d} 4 m

102. 17 A and B are complementary
angles, then the value ol

sin A cos & +cos dsin 8 104,
7 ~tan Atan B
+aee A =~ cols Bis
fa) 2 ()0
() 1 (d) =1 3

cay, Lo Jiégh" *g

‘segment and C'is 8 pointnet lying

Place that pronides refupe

{1) shelter (b} honse
(&) country (el asylum

Directions (86-100) : Sanie of fhe |
words fiave been' lefft our Fivst,
read the passage over and oy i
ndersiond What {0 whout, Then

S the hlanks with the help of |
the alteviatives given. Mari your

AREWES m {ke Amwr_fr Sheet,

L .
Erverca
w165}, and from the . (8T he

!.:ldk is able o (88 the

daily lives of men and) women

i Hived thousands of yeant apo.

He makes # ...{89)... study of those

things which those men and wormen

left (90, them, = From the
«.(.’J‘l}
animals their owners could kil
from their wals he leams wha
92).., they had minstored and
from their pors, necdles
he ..f93).. the domustic Akills of
their ...(94).... Thus is has heen
p(m'siblt.' T a _ge.nera]]y

(95)...  account ol T himen
cvu]ulmn going hack some half

on a lin

o A I .-_’_;‘JG(:-'—-‘!O" il
OX.0F are the  mtemal and!
external  hiscetors
respectively, then SBOY is o

b judges the size of the |

il combs, |

of " 2400

{hihullars
(d) tarpets
(h} products

9L, {a) weapons
[} g
92, (&) industries

() erafis () knowledge
93, (a) values (b dssesses
() judpes (e} criticises

494, (a) friends (b} animals

(e} women-folk

(dl} rieighbours

) reliable

5 LA anle

(] perlect

{al} dependable
- PASSAGE-IT

TF you prefer mountams ..(96)...

deserts, - frv Darjecling,  West

Bangal's hill resort that ..(97).,. al

the  foothills © of | the  mighty

Hitalayas. . (98).. while in
- Bengal, if your spirit of adventure
gets the better of you, .(99)... the
ferry 1o the  Sunderbans,  the
waorld's largest delta . But if these

- places do not attract you, there’s

Al

Bhutan the quict  Himalayan
Kitigdorm .. (100).., West Bengal,
96, (a} apainst (b from
{1 with {d) to
97 (a) mestles (h) cuddies
{c) sleeps (b rests
98. (1) sa {Iyand
() Bul {d} since
99, (a)ask [b) ke
{e) pick (d) pay.

100 (a) adjoining
() surrounding
{c) skirting
{d} bordering

V2
{e) 1 (dj+f2
105. In the follewing fgure. O is the
tentre of the circle and X0 is
perpendicular to (2F. T the aren of
the trigngle X0 is 32, then the

() 70° (b)'80° arca of the circle is ;'

() T8 () 68+ L

L IF xsin 64 yeos” B=sin Boos B f/ b \\
and xsinB= peos ki1 45 | |
E)smg?‘ﬂcuss#(} then"" ;: o
i hy (.s ] ! fa) b ——"(h) gsén



Ceyiem

! (d) 32w ]
106. The side

BC of AABC is|

produced to D If 2ACD =108

and £B=— 2 Athen £Ais ‘ 113,

fa) 367 (b) 727
{c) 108° (d) 59°
. Two cireles of radii 4 cm and 9 cm
regpectively touch. each other|
externglly -4t & point and
. common mangent Y e MY 1
the points P and O respectively. |
Then the area ofa square with e
side PO s
{(4) 97sqem (b} 194 sq cm
Ao} T2 egem  (d) 144 sgem
108 Two tangents are drawn frofm’

10

et

point P fo circle at A and & ‘0is!

the centre of the circle, Tf
LAOP = 6(F  then £ APB is:

(a) 1207 () B0°

{c) 607 {dy3g° - 4

109, 1f each interior angle is double of
each cxiérior angle of a regular
poly gon wnh n sides, the va‘me of| -

wis
(=) 8 {b) 10
(c) 5 (dy 6

110, 185" + _14 =23, then the value of
X

42
[ —1] will be o
X

(a) 7 by =T ;
{c) =3 () 3
111. The value of
1.||'6+~{6+(64 L. upto w}}] is
equal {0 v
(a) 3 {v) 19 l
I oAz ]
11‘.?. fx+ L —3. the value of 3° 'Ls
x
is: :
() 123 by 126
(cy 113 ) 129
N3 ExT15=x10. then the
 value ofxis u
Ty RSB (OB TER
(@6

114. In the xwonnrdmale systcm, if ;

< {a by mm e+ 30b0 k) are pwod
. poines on the line defined by tie)

cquation y= 3y = 7 then & :

'(a) 4 w1l

@5 @3
A reductio: of 200% in the price of |
an apple enables 3 man to buy 10

apples more for ¥ 54/-, The reduced | 123.

1

i\ prica of apple per doven is ©
(e T432 )T 12,96
{2} T 10.80 (4T 14,40
| 116, Pri of commeodity - has!

L€ AR B e Ry e
cent Must & CONSUMET ro uce 1]
wnsurnrmnn of the commodity 50

(o) 37 (b} 375

() 40:5 {d) 60

7. The cost of an apple is twice th
‘i3 banana and ‘(b cost of B

banana is 25% léss than that of 2’

ava, Tf the cost of cach type of

1
‘ %run ingrease by 10%, then the

percenlage increase in cost of 4|
hananas, 2 applesand 3 _guu.\ms st
(a) 10% Lb) 1205 !
() 16% (d) 18% "
18, Walking 6/7th of his usual spml
‘ a mar is 12 minutes too late. The
nsual time takeri by him to cover
that digtance is |
") 1 folr
b)) hour-12 minutes
() 1 hivur 15 minutes’
{d) 1 hour 20 rmm,ﬂm R
119. If I walk at 5 km'hour 1 miss a
train by 7 minutes. If, howewver, 1
walk at 6 km'hour, [ reach the

station 5 minutes before  the
departure  of  the tram.  The
teen my

"' house and the sfation is :
i D3
(dy 3

| 120. b4 SUUr becomes £936/- in 3 v..arq

' 4t q cereain rate of simplo interest.

Tf the rite of intsrest is increased

. hy 414, what amount will T 800

‘become'in 3 yeuis ?
(a) % 102080/ (b) ¥ 1025/
'R LospiT | )R 1050/

16/25 of the sum, The rate percent |
if ‘the! rate per cent and time (in

' "'na not to'increase the expenditure ! {

| 122,

‘

121 Sirhple interest on 8 cerEin sum 1;,

?bah%} are equal, is :
1 Ty g (b) 8%
ey 10% (d) 12% L

1f the diffcrence between 5. 1 and
C.L for 2 years on & sum of money
lentat 5% is T 6/, then the sumis:
(&) ¥ 2,2000 - (b} T 2400/

()T 2,600/~ (d)R 2,000

A hemisphere and a cone have
‘equal bases, If their heights are

alsa equal, the ,ratin of their
curved surface will be ;
12:3% B R B

7] @2:1 e
2{}1&"’{ {nd’uﬂ of a cirele n._'

increased by 50%, it ares is
incroaged by !

18] 125% (b} 10{%.

(e} 75% {d) 50% .

'1_“25 A and i3 workin sepal:ne]\u can

do s’ piceg of work m 9 and 12
days m&pec’ﬂvcl_ the work fora
day alternately with a heginning,
the work would be complstul in:

] 103 days () HJ da)'a i

ey 1-01 de. (d}m- days
]2.6 A and B together can do a work i

LK days. B and € togethier canido
thie same work in 6 days. A and C

. together ean do the work in 12
days. Then A, B and C tog:‘thcr
can do the work inx: :
@28 days o (b) 14 d.:yq

©sins @82

127. A does hall’ as mueh \wrk as B in
threefourth of the lime. [ftogether
they take L8 days to complete a

£ weork: hiow nach time -,h&]lBtak-e
1 do ivalane T
(a) 30 clays (b 3;! days
fch 40 days (d) 45 days

118 T nwira is bent imto the shape ofa

“square, then the area of the square

! 5o formed is 81 cm®. When the

wire i rehint into a scrmmn.u]nr

shupc then the aréa (in em?) of
the semicircle will et

s Tﬂkcﬂ = ;] .
)22 (b) 44
"e) 1T (d) 154

119 Marblds a diameter 1.4 cm are
* idropped into a cylindrical beaker
containing some water and are



fully submerged. The diameter of thie I.u_z:ke-l s 7 em. | 139, By =elling an ammicle for T 144r"-, 1 person g.umsd such

Find howe many marbles have been drapped in it if the |
water rises by 5.6 om
(w) 50 (by 150
{c) 250 () 350
130, Water s flowing at the rate of 3kmhr thrnugh a
cirgular pipa-of 20 cm internal diameter into a circular
clistern of diameter [0m and depth 2 m. In how much
time will the cistern be filted 7 §
{a) | br fh] 1 I'I 40 mins
(c) 1 b 20 mins J PSR T
131. At ench comer of & \Tl’fﬁtlé !l“ﬁ"lidl"éﬁ rﬁtlrl "{Jn{'ZB} h()
and 30 m. & cow is tethered by a repe of length 7 m,
The area {in m” 4 unglazed by the cows s
(@) 336 (h} 259
(2) 154 @77
132. A shopkeeper allows 23% cotmmission on  his

=

that the percentage sain equals the cost price ol the
article, The cost price of the article is ;

(@) T 904 (b) T R0-

i) % 750 () T a0

140, The average age of 11 players of & cricket team is

mereased by 2 months when two of them aged 18 years

" and 20 vears are reploced by twoonew players, The

=

- advertised price and still makes 2 prafit of 10%, Ifhe |,

gains'T 56/~ on-une ilem, his slverlised price of the

Itemy, in ¥ is ¢
() 820 {ls) 780
{c) 790 () 800

133, The ratio of the ages of Ram and Rahim 10 years ago
wais 1 ;3. The ratio of the (heir pecs five yvears hunue
willbe 2 : 3. Thenthe ratia of the their prosent nges is {
(a)1:2 )25 )

(£} 314 [dyiis

. The ingomes of &, B and € are in the ratio 719 12 and
their spending are in the rotio 8¢ 9 15, 164 saves 1/4
th uf his income, then the saving or A Band Care in
the ratio of ;

(a) 69 : 56 48 (b1 47:74:45
() 37 ;72 49 (d) 56 - 98- 69

. The ayerage of 25 obsarvations is 13, It was later found
that an observation 73 was wrangly entered as 48, The
NEW BVErAEE 15 |

o
E

{a) 126 by 14
(cy 15 (d}13.8
136, An article is marked 40% above the cost prmc and
discount of 30% is allowed, What is the gain or loss|
percentage?
(at) 10 % gain (b} 5% gain
(] 2% foss (d) 124 loss
137, A main bought oranges ul the rate ol § for 34/~ and
sald them al the rate of 12 for & 87/ How many
oranges should be sold 1o earn & net profit or 457
) T 90~ (b} 100/
(e} T 1350 () ¥ 150 1
138, A man sells two articles for ¥ 5,000 cachneither losing 143,

nor gaining in the deal 1 he sold of them at a gain of
25%, rhc other article is sold ara loss uf |

W 15%% (0 1625,

113,

(©) 1?5% (d) mE,..,

‘ C ompulcrs

11, thﬁ WHE
" department ?
i) T16.8 lakhs

aversge ape of the new players is :
(a) I‘J'veals | mopth, (b)) iOvears (3 mondl
8 {.{ } JJ"] 1 erears S month
1 i

ra
I)|rcc{|:ns‘{ he foliowing graph
carefully fo ansiver n’u Ve uEsiiony -

Details nbout the distribution of employees and
expenditure  of an  organization (l}lstribule{l
proportionately acress the departments)

Annual expenditure on  different  ftems Tntﬂ
Expenditure =7 12 crores

Dep_artmem wise distribution of employees
Total number of employees = 1200

B

Onctatia %/o e
l?°v
Marketin;

the  total

Account

184 | Administration

|\
I 15%
ersom‘mcl

expenditure on Accounts

(b} T 1680 Jalchs

(e} T 18.6 millions () T 168 millions

142, What was per ermployes expenditure on madical 7

() T 12,000/~

‘e T 12,500

Whet was the total exg
in Markefing department

(a) T 612 akhs (b)% 61.2 millions
(c) T 6:12 millions - (YT 176 lakhs

(b} T 13,000/
() T 13,500
itire on sakay ol

1
R,

144, Whal was the amount spent on elecirieity 7

@) 132 millions
() T 126 millions

(h} 2 132 millions, -
() ¥ 12,6 Tnkhs




145, What wasthe. penditure on telephone for employees |
in compuler department
(a) T 11.52 lakhs () E 11 52 millicns

(ch 2 10.72 lakhs () ¥ 10.72 millions
Directions (146-150) = Study the following graph
“carefully and give answers,
Acconnt of income and expenditure (in crorcs] i
* of seven cumpnmeu in the yenr 2007,

; 5”‘| s Expenditure ( Jln%?mc 5 |
% 501 zf.,u' e/ Ly f
£ 407 '
g 30
%50

10

0

A B
Companies

146.. Appr what 18 the | af pmﬁi.l'lo'ss|

that oompamcs Cand D had tagelher 7.

PART

151, Whl{:h of l.hc fol!uw‘mg statoments is/ate correet ?
Article 26 of the Constitution of India states that

=V 1 GENERAL AWARENESS

(a) 10% prolil

(h)112% profit

(¢} 10%5 loss

[d) N pmflt no 1653

147, If the income of company A increased by 102 in year
2007 from year 2006 anel profit earned in 2006 was

20%, what was its expc.ndlturc in 2006 ¥ (The value

upto two decimal places in crores)

{2) 3636, - (h) 3232

() 30,30 (d} ax A1 i

T (7 in 2007 was 20%
moreftha.n‘{ts che e {;{Thr. year 2006 and the
company eamgd E protn, mf‘ 0% in 2006, what was the
company’'s come in 2006 (m T erore) ¥
{a)37.5 (h141.25
() 34.09 () Can't be determined
. Which of the following, companies had the highest
percentage of profitiioss in 20077
(a} B e
()Y F ) A
. What is the appruximate percentage of profit eamed
by all the companies together in 2007 2
(a) 11 (b 113
() 105 (d) 12

(b) Londen
(d) Tokyo

(&) Paris
) New York

subjeet to public order, morality and health, every 155 Tn which onc of the following Sessions ywas the Indian

religions denomination or any section thercof shall

have the right

L, . to establish and maintain mr.utuhnns for religious

and charitable purposes,

“to rnansge its ow affairs in mattets of rehglon b

1o own and  acguire mm'able and immovable

PLOperty.

(a}1 only (b)) 2 aml 3 Unly

{c) 1 and 3 only (d) 1, 2and 3

Who dmong the following was nat a party [0 the

coalition that fought against the English in the Bauje of

Buxar T i

. {a) Mit Kasim

(b} Mir Jafar

(¢} Shuja-ud-daulah

(d) Shah Alam 1L e

Who among the following had foutided

Theasophical Seciety in the United States of America 7

(a) Swami Dayanand Sargswati

(b) Madame Blavatsky

(o) Madame Camas

{d) Lald Hardayal :

IR4 ln whleh me Of the foliowmg cﬂla, wasthe East India
s0C d by i Naor 1866 7

R
3

=

]

the |

National Congress split mto Moderates tnd Extremists 7
(a) Nagpur (b} Allahabad
(c) Surat {d) Calcutta
156, Who among the following was the first Governor
General of India ?
{a) Lord Amherst
(b} Lord Williurn Baniinck |
{c) Sir Charles Metacalfe
(d) Robett Clive
157. Which ane of the following has gengraphical position
of 07 latimde and 0° longitade T
() In the South Atlantic Ocedn
(1) In the Meditetranean Sea
{c) In'Ghana, & Weat African country
(d) At Greenwich Observatory in England
158, Arrange the lollowing in chronological order ;
1. Third Carnatic War |
2. First Burmese War
3. First Mysore War
4, Second Afghan War
Gy 1432 0 (k) 1-3-2-4
(£) 2-4-1-3- s [d).3-1-2-4

e TR



159,

160.

161,

162.

163.

164,

165.

1

F‘

Atfter 1857, who ol the following announced, al &
Darbar at Allahabaed, the assumption.of the Governthent
of India by the Sovercign of Great Britain 7

() Lord Canning (b)) Sir John Lawrence

() Lord havo {d} Lord Morthbrook |
With which enc of the following did r.he Civil
Disobedience M in India o

(a) The Dandi March

{b) No Tax campaign by Sardar Patel i
{c) The unturling of the nnuﬂm flag by Wehru f
) Mabitina Gandard Youls DAL LLO N0
Wha among the Tollowing was the Governor-General
of  India. immediately  preveding  Chakravarthi
Rajagopalachar ?

(a1} The Marquess of Linlithgow

(b} Lord Mountbatten

(e} Lord Wavell

(d) Lard Chelmsford

Meghnad Siha s known for hn L,uumbulmn in which
ane of the follawing fields T

() Physics

(h) Medical Scienge

(c¥ Environmental Seienue

(d) History

Which une of the following days is observed s the |

Waorld Environment Day 7

(&) 28th February

(b) 4th March :

{c] 3th June

(dj 16th Seprember

Wilo of the following Stale Chiel Ministers reventli
won United Nution's Public Service Award for his
Mass Contact Programme ¥

(a) Oommen Chandy (Kerala)

(b J: Juyglalitha { Tamil Nadu)

(e} Prithyitaj Chavan (Meharashira)

{cl) Narendea Modi {Cirjarat)

Mateh the following
| . List-I List-IT |
1. Tabla ‘

‘ A, M., Hussain
| B, Zakir Tussain 2. Classical danve

€. Uilhas Kashalkar 3., Puinting

0. Yamini Krist 4. Vocal classical

ABC D A B CD
() Bl e YA B
(€2 3 4 1 [N S R S
Below is the list of persons who recently scaled the

)

Wdunt Beerest. Choose the correct m

Raghav Joncjs Youngest lndian

Al (15 years)
B, uichiroMiura Japanese Oldest Man {30 vears)
., Arunioa Sinla First [ndian amputes (25 yehrs)
B, Nunshi & Tashi Malik First Twins {21 years)
E.  Bamins Baig First Pakistani woman (23 years)
F. Anshiu Jdmsherpa Only mother in-the world to
scale the peak twice in (10 days)
(3 Raha Moharrik First Sandi woman and youngest
Arab ; (25 years)
(al A, Cund D ;
R T B

serby m;fmfﬁdr un
(d} All of above

167. In which ane of the following places is the Indira
Gandhi Cenre for Atomic Research located 7
() Thiruyananthapurdnm
by Sriharikota :
() Kalpakkamn
(dy Trombay

168: Match the following :

e List-11
| A JeewMilkha Singh 1. Archery

" | B. Jayanta Talukdar - 2, Cricker

| N Kunjarani Devi 3. Power litting
D. Jhulan Goswami 4, Glf

ABCD

w4 13 2

14 312

@z 31 4

[dz 13 4

169, Who amoéng the following fast bowlers has taken a
hat-trick n the very firse oyer of a Test Cricket match 7
() Glenn MeCrath (b} K. Pietersen
(&) C. Walsk (e} lefan Palhan

170,.In the final matehi of [ndian Premicr League 2013,
Mutnbai [nlians defeated Chennai Super Kings to life
ilg First 1L Trophy, Who of the following was the
captain of Mumbai Indians. in the final match ?
{a) Sachin Tendulkar (b)) Rohit Sharma
(e Riclky Ponting {d) M3 Dhoni

171, In which country of the world, the largest Buddhist
temple is focuted 7
{a) Japan (b} Indonesia
(e} Ching () India

|1'172. Which of the following rights was considered by
Dr. Ambedkar as the “Feart and Saul’ of the hdian
Constitution ? :
{a) Rightto Equality
{h} Right 1o Freedom af Religion
{e) Right to Freedom of Speech
fd) Right to (‘onsumnonal Remedies




173 \-\"Iuch nf the following countries | 181, For

joined hands to develup new
elipnate-resiliont varietics of rice
and wheat, two of the mnjor crops
in the world
(a) Inlia, Bussia, Batgladesh
(b} Indlia, Russia. USA
{c) Russin, Japan, India
(¥ India, USA. Australia

174, Which of the following gases is
sroduced durin; lightnize ¥
[(—‘) Nitrous Oxfgc WWLED
(b} Mitrogen Diaxide
(e} Nifric Oxide
by Mitrogen

175, From which Janguage1s the word
“alphabet derived ¥
{a) Cireek
{b) French
(e} German
(i) Latin

ustally preads through Milk 7
{a) Plague
(D} Polienyelitis
() Typhoid
(1} Diphtheria

177, Which of the followi
world's oldest eapital cily 7
fa) Canberra (b)) Damascus
) (sl (d) Awvern

182.

fuff\;'e;fgé

183.
176, Which of the lollowing diseases

178. The National Police Academy at} -

Hyderabad is named after which
of the following personalities 7
(a) Jawaharlal Nehru
{h} Mahatma Gandhi
() Lal Bahadur Shastri
() Sardar Vallabt bhai Patel
179 NASA  sent  ifs - unmanned
spaceship Mars Lender 1o
Mars for searching water and
many marg chemicals.
(a} Eternity ;
(1) Phoenix
[c} Xavier
(1) Chaswini
‘180, ‘he Uttarakhand  povernment 15
building a new  Vidhan Sabha |
Bhawan (Tegislative -‘\‘semhly
building) in which
being déveloped as the s.ummel
L capital of the state,
(a) Kashipur
(b)) Gairsain
{c) Rishikesh
(i} Roorkes

185,

186,

| 187.

. Which one of the following |

anttstanding lifetime

achievement in which one of the

following areas is the Abel Prize, |

atyinternational prize. awarded ? i

{a) Ecology and Environment

(b} Medioal Seience

[y Mathematics

(dy Biotechnolozy and Genetic
Enginecring

Which of the following banks

{&) HOTE Bank

{d) Al of the these
Unique [dentification Authority
of  Imdia (LIDAL - recently
inaugurated new Aadhasr-enahled
services which would in turn help
the  residents of @ India, in
anthenticating  their . identity
anywhere and “anylime via any
digital platform. Which of the

188,

[u{ ue. with Western il ~igfares  the . mew
e bt il i ] f!*}_'futr L FEbled servicels T
to o provide  effective  foreign () e YO

exchange payments tor SMEs or |
stall and mediam cnlerpriszes in
India?

{a) Indusind Bank

(b} Axis Bank

{c) World Bank

(d) Asian Development Bank
Recently Tndia und’ Singaporé|
reaffirmed  their  strong  and
long-standing defence tics as they
rencwed # bilateral agreement for |
the conduct of joint.army training
and cxcroises, When was this
agreement finst signed !

(a) 2009 {b)2010

(c) 2008 (d) 2007

countriss has ils military base in|
the Tndian Oce.m island of Diego
Garcia T -

(@) France (b Russia

fo) LK. [d) LA

Where is the Headquarters of
NATO located ?

(ar Amarerdam {b) Brussels

(c} Berlin {d) Paris

Receutly India signed a troary for
the  extradition of  runaways |
wanied foir ferrorism. |
tansnational - crilnes, econonc
offences aml other serious crimes
which will shorly eliminale a safe |
refuge for crirninals with which o
the Follewing countrivs?

(af Thailand (b Kenya

[} Teekind {uly Fintand

The: Reserve  Bank  of India’
recently penabized which of the |

“following banks for vinlation of |

KYC  norms' and  anti-mpney

Jaundenng guidehines * 0 0 g0

{a) Axis Bank
(b TETCT Bank

(b} OTP {one time pin}
authuatication i
() Iriz authentication
{d} All of the above
189, Which one of the following
. pharmaventical companies filed
wril petitions against Government
of Todia not ' others, to plead
ngsingt the rejection of its parcnt
application by a-Patent Chfice in
Chennai ?
(] Avents
(b Cipla
(£} Glaxo-SmithiKline
{di Novartis A
| 190, Which one of the following
locations does not have o steel
plant of SAIL 7
(&) Bhilai
(b} Bokaro
(e) Rourkela .
() Visakhapatnam
191. The €T5-2000 standards made
comipulsery by the RBI from
April 1, 2013 refer to which of the
follawing 7
{a) Chegue Tracking System .
by Chegue Truneation System
{c) Cheque Transaction Svstem
) Cheque Testing System
192, Who of the following is an
accoinplished vocalist 7
(&) Monu Mazumdar
() Shiv Kumar Sharma
{c) Satish Gujral
{d) Dinanath Mishe
193, Which printer is very sommanly
used for desktop publishing ?
{&) Laser printer
{1} [nkjef printer
(¢) Daisywheel printer
(i} Dot matrix printer
N



194.

15'.5- Co’m‘_aipimteld WALS: Can cause fhe 198, Which one among the following it
fﬂ“““"&s Iff*lﬁ]ﬂﬂfﬂ st w"h'u'{h sfajes has more population than| e “.""‘”5“’“];“‘1 cnme?. h“”'““rl
one of the following? w5 = e IR uk & A i / sohte ahuscs,  vielation o
(a) Hepatitis A “° "'f’/':-r’-l’l‘:""l‘lr‘!l"'y"_e:wy:":f "'r::"(‘f':”'r'l' jg'ﬁf‘;_{r{rﬂu'ian Taw as well as
oAby Typhoid : (a) Gujarat terrorism.
{c) Measlos (b) Mudhys Pradlesh fa) Only A
{d) Cholurs fﬁj gr!“_i} (b) Only B
196. Which one of the following : ) Rajasihan s o (&) Only C
diseases is caused by bacteris and 199, Recently mare lhil.ll. 65 Countries id) All of these |,
spreads through faccal matter by across the world signed the Arms | ag0, Dueing the reign of Alauddin
houseflies 7 Trade Treaty, Which = ef the Khilji, who were amils ?
o [a) Pertussis fallawing is ‘are the objectivels of (8) Local landlords at village
{b) Twphoid Arms Trade Treaty level
() Diphtheria . A. Avms Trade Treaty is requived | {b}.Government agents o eolleer
(e} Chickenpox for - controlling the land revenue :
197, Consider the following statements ; unrestrained flow of the arms: (&) Khurassni © and  Multani

An oufput device thal uses waords
or messages  recorded on A
i 5 ol piod

audio response is ;

() Mapnetic tape

(b} Voice respense unit
{¢) Woice recogniion it
(s} Woice band f

1. Ranjit Sagar Dam is on the

' river Beas.

2. Hirakud Dam
river Damodar,

i5 on the

3, The réservoir Gandhi Sagaris |

o the river Chambal.
Which of the: statemants given
ahowve isfare correct 7
{a) 1 and 2
(b) 3 only
(o) 2and 3
(d) I and ¥

a5 wall a3 ammunition.

. This troaty 18 too set the
standards for the purpose of
cross-border  transfers - of

weapens ranging from attack
helicopters to tanks:

O The 'treaty  would  create
requiremnents  for  all the
countrivs o review  the
cross-border  contracts.  in

order to make sure that these
wenpons would not be used
for the illegal purposes such

traders of foodgrains

() Hanjaras who carried the
food-grains from villages o
L
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